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UASAHI &4 1,000 750 250
301 LEtEAS 1,000 750 250
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= 2,864
2 8,629
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= 2,864
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= 39,466
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2 7,804
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OREEXNZE 2,537, 10021 +20ha 50,742
= 39,466
= 3,382
= 7,804
BALELWSAL 8,557 8,557
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= 951
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— w0l 360,000& «24H 8,640
= 8,640
O3S AZEIHHI| stE A 32,752
—Jl2s 45,0003 230 »2H 20,700
= 11,853
= 2,212
= 6,635
—us, 2tAldl 5,000& 230 x2H 2,300
= 1,317
< 246
i 737
—ReER¢sE 45,0003 32 «2H 2,880
= 1,649
& 308
= 923
— Xt 45,0003 » 112 +2H 990
= 567
= 106
= 317
—2Ez= 3,722
= 2,131
& 397
= 1,194
—wW=0Hl 1,080,000& =2 2,160
= 2,160
OAHEHI0IQA =HES 137,063
—Jl22 45,0003 x204 «10H 91,800
= 55,080
= 9,180
= 27,540
—ws, A 5,000& *204 x10H 10,200
= 6,120
& 1,020
= 3,060
—REsgdsd 45,0002 x242 10 10,800
= 6,480
= 1,080
= 3,240
—QAXt=E 45,0002 *10€ 10 4,500
= 2,700
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i 1,350
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= 9,698
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— W0l 360,000& 10X 3,600
= 3,600
201 LBt A 66,318 52,850 13,468
2 39,765
= 6,639
= 19,914
01 AFR 22l 35,561 52,850 A17,289
OzTMINRI| 2¢ 24,608, 0002 *14! 24,608
2 14,765
= 2,461
= 7,382
O33AEIRI| AEIANHE 2
476,500 %24 953
= 546
= 102
2 305
OMBIHIOIQMA +HEE 2
10,000, 000& *14] 10,000
= 6,000
& 1,000
i 3,000
02 23234l 30,757 0 30,757
OS34tEitRI| 29 24,000,000& * 14! 24,000
= 14,400
= 2,400
i 7,200
OIS HIOIQHA EEE 2Y
6,757,000 =14 6,757
2 4,054
& 676
= 2,027
405 KH&HFE SHI 10,452 26,000 A 15,548
= 6,271
& 1,045
= 3,136
01 &L 2EFHSHI 10,452 26,000 A 15,548
O&teHI0IQ0 A =E &8 EEH 24l
5,226,000 =2CH 10,452
= 6,271
& 1,045
i 3,136
=R ESIE:B] 1,278,052 693,359 584,693
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S 107,655
= 254,786
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= 92,600
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O2URIt3I| Zel 61,200,000 14 61,200
OielZd g el 9,000, 000& =14 9,000
03 A2 R04Hl 8,178 4,693 3,485
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= 38,495
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S 15,831
s 38,495
A HIOIQOHA AlM 87,780 0 87,780
= 37,620
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402 QI2EHE01M 87,780 0 87,780
= 37,620
= 12,540
= 37,620
01 2IZEXEE X 87,780 0 87,780
OM I QI A (B EUeS)
2,660,000 3304 87,780
= 37,620
= 12,540
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o

2A: AE 23220t
Z: AHTAS
el =ItRI At (ctel: &
_ _ _ HET
SN -ZH A (ZH) - MFAY - BES e '@,‘;OH Hos
OLAIIAHFHl KX 316,666 *6CH 1,900
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= 1,860
= 837
= 1,953
202 O4H| 4,000 4,000 0
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= 305
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Ouregais 2M A2 61,000& * 1004 610
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401 AIEHIZ 20| 49,523 24,728 24,795
= 24,761
& 7,429
iy 17,333
01 Al&HI 47,123 24,728 22,395
O2USRE THoH M Z ALY 1,570,766& *30ha 47,123
= 24,761
= 7,429
iy 14,933
02 2eldl 2,400 0 2,400
OAUSRE THH M Z A 2,400,000 * 14 2,400
25+ FHIAS 16,000 16,000 0
= 7,680
iy 8,320
401 AIEHIZ20b] 16,000 16,000 0
& 7,680
o 8,320
01 Al&HI 16,000 16,000 0
25+ ZHIAE 4,000,000& x4 16,000
& 7,680
o 8,320
Ot SZ IIoHOo A 24,000 42,000 A 18,000
= 12,000
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o 6,000
402 SI2tX=201M 24,000 42,000 A 18,000
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= 1,200
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OS2 ZAF X 25 20,0002 %602 *1% 1,200
= 1,200
MELXHE L B4 54,842 55,360 A518
101 14| 4,400 4,400 0
04 JI2tHIZ2E2NEE S 4,400 4,400 0
Ott=2d st gedst= 200,000& *22J4 4,400
201 B3| 45,742 47,260 21,518
01 AtE22|Hl 17,460 18,460 A 1,000
O&EY 17,460
02 22234l 28,282 28,800 A518
os™ 28,282
202 O4dl 1,000 0 1,000
01 =LA b 1,000 0 1,000
Ooutt=gXge =4 1,000
203 HRF&H| 1,000 1,000 0
03 AEFIHSFAH| 1,000 1,000 0
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